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{ PART : B—DESCRIFTIVE )
| Marks: 25)

The figures in the margin idicate fufl marks
for the questions

1. fu) Swate and explain the characteristics of
slanslicy and alse SUpPoTt your answer
with the importance of statistios Dtd=4

Cir

fly  Chve the meaning of tibulation. Explain
the major objeclives of wbulagon. 2-7=9

2. o} Calculute the 5D rom the [following
cata @ Q

ierss fmperan 5-15 15=25% ZR-35 3545 A5=0h

Frespetiely a4 12 15 ) 4]

HLIS02a { Turm Cheer |



(2)

O

B Caliulate Earl Peurson’™s coeffiient of
correlation trom the following data @ b

Frirp s 2 24 26 I8 A 32 M W
Dwopaared Bl S8 Sf) B0 3 48 4R 47

3. () Calculate guantity mdex number from
the [ollowing data by usmg Fisher's

wleal methad 4
iR 7 2o | a007 _|
Comeusley e p or _| J_’rrm- a | ;; !
i Pl ¥ y | o
Wheat | - . S R | 1 1 - "
TR T TR T
Rice |- qik & TR
Rk AR A YERE S
Sugar | kx a 1-}_-__ 4 | 12 |
]

(b} Srate scme uses of ndex number and
alges explam the preblems involved in
the censtruction of index number, 4+5-9

4. faj Discussthe vanous tvpes of forecasting ]
L

I The number of unis of & preduct
experted during 2000 w 2007 is given
below. Fit & strzpght line trend 10

51./502a { Contintued }



i 3 )

the data and Ned the esitimare for the

vear 2008 : G
Yirar SO0 CMIGD 30 N0F S 2005 20NE J0aT
e arf Fels 132 13 13 T i 23 21 fpt

3. fi)  Siale some olgectives of sampling and
discuss  the  various ethods  of
sampling. A==

Car

(b) The probability that a contractor wili
pel a plumbing contracy is 2/3 and
the probabilicr that he will not get
an  electric contracl s 53/9. I the
probability of geting @t lesst one
contract is 4/5, what s the probabil:t
that he will ger both the contracts? Lt

k x W
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[ PART : A—QBIECTIVE )
| Marks 1 25

The figures in the margin indicate full marks for the questicns
Answer all quesuons
1. Put a Tick () mark against the correct answer in the
bracke1s provided : 1=10=10

faj In the deveiopment of staustical methods, the
greawest contribution is that of

fil eCcornomisis i |

fiiy mathematicians ¥
(i) businessmen { }
i sciennists [ |

[s02



I 2]

(b} Coeflicient of gquartile deviation is calculated by
the formula

g 24
s |

HIT, 5 | ]
vy (e — 0

jay Lo {

03+ 0) }

ﬁ!-’} ﬂ?ﬁ.ﬁl |’ ]
7 — &

e} Factor reversal test is suggested by
i) Laspeyvres [ j
{iil Paasche [ )
frf Fisher [ b
fiv) Bowley [ ]

{d} Base-shifting method is strictly applicable only if
the index numbers satishy

(i} circular test { |
ny  trend test ( }
i} parallel st i
fir] rano test i 3
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[ 3]

e} “A time series consists of statistical data which
are collected, recorded, observed over suceeasive
increments.” Who coined the definition?

fil Morris Hamburg G A
fii} Ya-Lun Chou | J

fiti] Patterson { |

iy Levin and Bubin { )

(ff Which is the most commonly used method
for arriving at cstumates of the cvelical
movements of lime series?

i}  Residual method [ )
fiy Direct method i ¥

{tii) Reference cycle analysis method [ )

fiv) Harmonic analvsis method | ]

fgl . help in making quick and accurate
comparison of data and bring eut hidden lacts.

fij Tables { |

fiij Circles [ !
iy " Gra ohs [ i
ffz) Diagrams { |

Br/BE-603/502



L4 )

i The classical school of thought on probabiity
assumes that all possible outcomes of an
experiment arc
fijf equalhy kel { |
fi)  mutually exchusive [ |

firii  mutually exciusive and equally hikely |{ |

frz} None of the above { }

i)  Additional theorem states that if two events Aand
B are mutually exclusive, the probability of
occurrence of A and H is given by
fii P{A}+P(B) ()
fiil PIB)xP[A) { |

fiiijf PLA}=FP|B) ()

fiv) PLA)xPIB)+ P{AB) [}
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il 10 students are to be selected from a class of 60,

for analysing the spending habits of students.
The investigator would select 10 students, who
in his opinion are representative of the class.
What type of sampling method is used by the

investigator?

fif Probability S
fiij Convenicnce [ }
fui} Quota ()

fir) Judgement T

2. Indicate whether the following statements are True or
False by putting a Tick (/] mark in the brackets

provided : Iz53=5

fa} The notion of statistics was originally derived
from the word ‘state’

True i } Fealze { )

Bo/BS 603 /502



(&)

b) Regression coefficient of ¥ on X measures
the changes in X corresponding to a umit
change 1n Y.

True { ] False { )

fe)  Secular irend refers to the long-term movement.
True [ [ Fualse [ ]
{d) The process of splicing is used to adjust the dala
for increase in price level.
True { } False { |
fej The probability of obtaining a 3 and a 4 in a
throw of two dice is 2/30.

True | } False |

Be/BE=G03 6032
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3. Write short notes on the following : 2%5=10

faj Statisucs
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(b} Scartter diagram
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fc} Deflating
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fd) Link-relative method
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[ 11 ]

fel Probabiliny
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